MELIEE L=206.9m

HEME  Pokitdh

t=bcm A=2062m2

SR BAKMEHE
HiEfE BKMEHE

t=4cm A=586m2
t=5cm A=63m2

EEREE (JrE) N=98@

\ it I

W \‘y
15 4EH H=1000 i .

4EgE L=11.30

suski H=1150 W
B EEH H=650 : A
- 0
(e 1100

53 =134,
3m
B8 10

m@%juv 9
sA%?HN H:\\EO

12BE L=131.50
-16%
L=135.5m %&@!mmm N=1

wE ke L=26 4n

i K Bt =25
0
' av \ % N

wRHEAE

-17.0
_BHA L =@h 1=3.0m
fi=17.6m \ \

28R 1=3.6m \
Hﬁz%‘é% 5028

"
1 L
U5
LR

%yl 32URMEE L=26.3n

yg 1+ ON
yg ci+8l ON

4.6
=17.5m % =48
1egmE =10

(BRRERER 12

_

‘BL'LHOZ'ON

o
[
[T
=A. al ‘ H
T AL )

g1 T1+eY
I'gg 6+61 ON

kiR o1

Il

| h
0 ke
ity “#”L‘L“L‘L‘L‘.‘

b
.

oIl 4%/ 21
| E-RERILBLI

HEEEJoovy N=94% tRa>HY—+

L=193. 6m, PIEEEAE N=2&

R R

RGMEE BBRERE @ -RE21
THEA T (1) GEOFRER)

BIREE EERRNKR
THER =~ ABTRT2TEM (E15E)
R FEE

#R 1:500 ‘@ﬁ&%‘ -
4 E EEERME T BHEHRESED




5.000

(#B) FEETRERIER

VCL=35m

VCR=17000m

+0. 009m

y=

EALEHER (ZD1)

H=1:500
V=1:100

ASUTEREM

~
(== O —
S > Lo| <t
— — o~ N B
— = <t +
+ + o~
72500 < < ]
DL=-5. 000 o (=) o
=| =| =
o I o
) 2 m o
& [i5 2 8 5
° w °
T T T T T T T T T T T T T T T T
= r = s Ty S ry o = o > o < ~ o
2 2 = 23 2 2 8 & 2 2 3 2 x 2
3 & b= P 3 S =2 ¥R © 2 B 3 5 E
3t B OS s s s s o s s s s o s s s s s s
B (TR
T T T T T T T T T T T T T T T T T
~ = = o o = = o o o = o o o o ~ =
2 2 2 22 2 2 g g g = g g g g = 2
& B 2 g g g R g g 5 5 g g 5 5 5 5 s g
p=1 < o o S o o = s s s < s = s s = o
2 2 2 2 S N g 2 3 g g 2 < 2 2
=] B = e < = < B 3 3 I
T T T T T T T T T T T T T T T T T
= o~ = o o - = ° ° o o ° ° ° ~ -
2 b 2 g8 b 2 3 3 g B g 3 3 3 = 2
. S 2 S = = S g g g =g X g g g b 2
B OB OB s - e P = e p p s < - p p = - s
o < < = < < < < Ed < < < =
N o
bl = 2
p 2
o~ o~ o
<
s o o o - ~ o -
kS - ~ - 2 - o © ~ - 2 > = s o 2 b
T T T T T T T T

B e

#h

#®

1p=2
TA=-11" 46'31

1p=3
1A=2° 5712

51727
0L=77.572
R=758. 799

I=4

REMEIR HEREKKR - KE21t
FETE (1) (GEOFHERD)

BiRe%

BERRERRE

A
B

4 B

042,004

Tl 2ol T

meEmRE2TEM (153D

ERERER (Z01)




1:500

EREHEE CZD2) 1ot 100

(#B) FTATPMIRIEE

R=11640. 000
5.000 VCL=35.000

= o| | o
— = 2| = =
= S| = 3|
o o o) o|

T T
— n i i "
> >| > >|

T ! R P —
0. 000
| i=0.400% i=0.200%
L=17.777m| L=141.608m
sl o~ (=2} ~
I < o ~ =S
S < =3 o~ >
o ~ o < ™
¥ ¥ " N
1:500 —_ o~ el Lo
— o~ ~ ~ ~
DL=-5.000 = = = =

o
N_
2
N

5}
=
0 050 4/0973\ NO. 16
N

T T T T
- - - < - - o o o o o ow o © = - -
< S < 3 S 2 < 3 =2 2 S a2 S 8 2 b 3
. < S S S S < S 2 = = 2 == 2R > 3 B
5 B 5 ; ; ;
B = s s s s s s s s o s s oo s o s s s
T T T T T T T T T T T T T T T T T T
o o o o = o o = o = - o = o = ~ o
S S S S 2 S S S s ¢ S 3 38 < 8 S > S
B g B S S S S ES S S S s = S 3 2S S S S E S
p=s s s s s < s s s s v s ~ oS © o s o s
S = S < < < e = S 3 S > 38 2 8 S 2 <
< < S S S S B 3 2 = < 2 B T2 2 e 3
T T T T T T T T T T T T T T T T T T
- o o o = - o = o © - 0w - = ~ -
< = = = 2 = = = S S bt 3 32 S = = > S
- 2 S S S E s S S S = 2 3 S3 IS S =4 S
B OB OB s s s s < = S s S @ < = — S s s @
= < < < 2 < < < = = I 2 I 2
T T T
- o~ =
3 3 <
- 3 2 S
3 = = : p e 2l
oo © = 2 e o L=
+ ¥ ¥ aXn
~ w ow ~ o - o = st & & ©
= 2 et = =2 2 LS = S < 2
T T T T T T T

13
16
21
23
24
25

RGEE EBRERS @ -RE21t
THA |gETE (1) (GELERER)

T A2=235 825 1p=1

Bh % 1A=5° 5127 1P 12=78. 153
CL=17.572 1A

BiRe% BERRERRE

© 847" CL=78.153
00 R=711. 600

R=758.799
T

TEE meEmRE2TEM (153D
4 B A {1+2. 0004

B 4
72« P I I I e e e e — - - - = — ErE EREHRRE (202)

H=1:500 v
wmR | R !E%%‘ 3

EXE4 RERRBELEERES




AR I i (X

S5=1:100

NO. 4643k

9125 9136
1250 3500 3500 _ 1750 3500 3500 1261
50 1250 25
|
EfIE ‘ AR
16983 15511
(17000) (15498)
3983 _ 1500 1500 _ 3250 ) 3250 3000 50 . 750, 3250 1248 3255 1502 1502 4005
(4000) s L (3250) (1500) | (1500) (4000)
158R
258A
HEHEITA Y Y EREHLE IS U ‘
. (2.0%) 2.0% n i ! 2.0% (2.0% - A -
e e B I S @ — — - —
y - ? : L = J
RE (BIHLEAs) t=4om S %B (BIMEAs) t=dom
FRBE (BEY S5y v—3 URC-30) t=10cm LRBE (£ 7y Y v—3F UR0-30) t=10cm
EE (R—3ZAs) t=5cm -
—B®)) t= TEEE (74 L5—&®)) t=10cm
TRER (I L5—B®)) t=I0en .y AR sERtiEh tEom
; RS (FERARE  t=40cm)
TEEE@EEISYIY—F 2 t=40cm)
DL=-5.000
NO. 40
GH=0. 658
FH=10. 870
18343
1250 3500 3500 1750 3500 3500 1343
50 1250 25) B LANP
NO. 14+5. 503
FH=5. 950
! 5500
‘ 750, 3250 1500
A LANP
NO. 13+14.740 NO. 22+16. 805 NO. 14+3.532
FH= 0.897 FH= 1.202
17000
N 10735
4000 _ 1500 __ 1500 _ 3250 ) 3250 ) 3000 50, AR (10750)
500 3250 4404 2581
258E
LLLERRY B300-H400

®E (FHEAs) t=don
LERE (BEY 5 v Y v—F URC-30) t=10cm

TREE® (T L5—E®)) t=10cm

As A

i

I

EhERET XM
R6ER RERRRKR f-TE2
£ (%—52A0) then TS \gTH (1) (GEUOFRED)
EE (BEHAEAs  t=5cm) EE (BEBAEAs  t=5cm) i . e .
T REBE (FEAARE  t-15m TR (BERERE  t-10m) \ \ \ BIREE HEREBRE
FREBEBEI Iy r—5> t=40cm) | | | _
L L L ITEEHM EEmRE2THM (FE153)
DL=-5. 000 ’ T ) HE4 EMER

"R 1:100 ‘E%%‘ 4

EEEL EERRBELTEBHERES>




R (Z01)

S=1

1100

NO. 39
GH=0. 620
FH=10. 750
18317
1250 3500 3500 1750 3500 3500 1317 B LANP
NO. 13+5. 797
50125025 FH=7.486
‘ 5500
\ _2.465% _ 2. 465% ﬂ 750, 3250 1500
» |
A LANP
NO. 12+14.471 NO. 21+16. 610 ‘ 2‘mo% JW NO. 13+3.968
FH= 0.877 ‘ FH= 1.222
14755 ‘ 10742
(10750)
4000 _ 1500 1500 _ 3250 3250 755 500 ‘ 50Q 3251 _ 1501 __ 1501 _ 3989
(3250) (1500) | (1500) (4000
1.465
‘ B300-H400 B300-#300
L\ oo 204
- 77Wﬂ9ga;;Z£7;;-f
e o o I ~'/ 7777777
11780 18984
8530 12823
DL=-5. 000
NO. 38
GH=0. 554
FH=10. 630
B LANP
18291 NO. 12+5. 996
1250_ 3500 3500 1750 3500 3500 1291 FH=9.015
50 1250 25|
5500
750, 3250 1500
2.044% réﬁ[ZL
(\x47 £ 044 | 2.044% JW ‘
| e ]
A LANP \
NO. 11+14.249 NO. 20+16. 477 | NO. 12+4.242
FH= 0. 847 ‘ = 1 927
14976 10748
(14950) (10750)
4010 1504 1504 _ 3258 950 3250 50 501, 3254 3041 3952
{4000 (1500) | (1500) (3250) () (3250)
1.470
‘ B300-H400 /
0.917
- — — ‘ K 2.(2 . 2.000%.
E “ T T —— = ——
r——— 7 - N

12788

18207

DL=-5. 000

8584

12832

£

TR

NO. 38, NO. 39

RGEE EBRERS @ -RE21t
THA |gETE (1) (GELERER)
g 2 EEEBRE
TEER BETRE2 TEE (F158)
HE4 B (201)
®R 1:100 ‘EE%%‘ 5
ExEL EEEENE L EERGEE>




BB (FD2)  s=1:100

NO. 41

GH=0. 686
FH=10. 990

18350

1250 3500 ) 3500 _ 1750 3500 ) 3500 1350

50 1250 25)

L e fo 5 1
N NO. To+o. 146
000% 3.000% ﬂ FH=4. 419

RGEE EBRERS @ -RE21t
THA |gETE (1) (GELERER)

NO. 14+15.071 ﬁ04%éﬂq7_043 5503 NO. 15+2.985
FH=0.918 750, 3252 1501 FH= 1.183
17010 ‘ | 10755
{17000) (10750
4010 1500 1500 3250 ‘ 3250 ‘ 3000 0 50 3251 1500 1500 4004
000) p 4\\4-447 _2[ 0008 Jﬁ IR 000
)
1.426
B300-H4Q0 B400-H897 1
: RIS
I } R N7 U% SRS
| e
‘ 3882 ‘
11645 " 19264
8395 12529
DL=-5.000
NO. 40
GH=0. 658
FH=10. 870
18343
1250 3500 ‘ 3500 1750 3500 ‘ 3500 1343
501250250 B LANP
NO. 14+5. 503
FH=5. 950
\ 2. 886Y%
s 2. 886%
| ——— JW
5500
‘ 750, 32Fo 1500
NO. 13+14.740 ﬁo_géﬂq5_305 ‘ NO. 14+3.532
FH=0.897 ‘ FH=1.202
17000 | 2 000s |
10735
4000 1500 __ 1500 _ 3250 ‘ 3250 ‘ 3000 50 (10750)
| 500 3250 ‘ 4404 2581
1.445
530040k B{#00-H936
'/// ‘ 2.0% 2.0%
[ iy et R
. I ’_’*—‘7;7\,7 7777:7;%—::f
voin. . H— r——r % i 7j§225}i*"4<44—47 ~ _
. : B | I oIS
\ WW : i — ee—- =143 W NO. 40, NO. 41
I

BiRe% BERRERRE

f f

\ \

| |
8469 12887 J@ JC/ J@

1719 19379 TEEFR EETRE2TEM (F155)
DL=-5. 000 ‘ i H&ES R (Z202)

®R 1:100 ‘EE%%‘ 6

EXE4 RERRBELEERES




X (£ D3)

S=1:100

NO. 43
GH=0. 769
FH=11. 230
18338
1250 3500 3500 1750 3500 3500 1338
50 1250 25
2425 2. 425%
— % J]
B LANP
NO. 16+15.726 NO. 17+4. 567 NO. 17+1.992
16955 5514 10763
(17000) (10750)
3955 _ 1500 1500 3250 3000 50 752, 3258 _ 1504 501, 3260 _ 1504 1504 _ 3994
(4000) (3250) (1500) | (1500) (4000)
1.384
B400-H815
L19.5 R23.5
) 08 = 2.0% _ _bow F
— — 70569 @ ——
EL=0.166
3882
11600 17363
10212
DL=-5. 000
NO. 42
GH=0. 749
FH=11.110
18350
1250 3500 3500 1750 3500 3500 1350
50 1250 25
‘ B LANP
‘ NO. 16+4. 822
A LANP FH=2. 885
NO. 15+15. 403 NO. 24+17. 282 NO. 16+2. 455
FH= 0. 931 FH= 1.164
5510
751, 3256 1503
16989 10791
{17000) (10750)
3989 1500, 1500 3250 3250 3000 50 501, 3254 1502 5534
14000) (B0 (3250) {1500) (5500
|
1.407 L _dooos f
B300-H465 B400-H858 E 0 -
|
L 2.0 I == :‘12“07%’ = = —t— o |
‘ P ' B M@% L — [\W |77 msecns
‘ ‘ =l v . B EraREtEmE NO. 42, NO. 43
3882 R6EIR @ERRKKE £ -KE21h
THB |mgTH (1) (BUOFREER)
BIREE EEERRR
11606 18592 ITEEHM EEmRE2THM (FE153)
DL=-5. 000 8356 11609 RE4 HIR (£D3)
R o BEES 7
BEEL EERRME T EHERES




X (£ 04)

S=1:100

NO. 45
GH= 0. 781
FH=11.470
18287
1250 3500 3500 1750 3500 3500 1287
50 1250250
’—\ 0.156% 2.000% ﬂ
B LANP
NO. 18+16. 141 NO. 19+4. 281 NO. 19+1.552
FH= 0. 831 FH=1.003
16970
(17000) 16731
4082 2888 3250 3250 3000 50, (16726
750 3250 2476 3259 _ 1504 _ 5492
(€£73) (3250) (1500) (5500)
B400-H757
2.0% 1 R
0608 71;;5? i — J
T = TR
11599 14141
8410
DL=-5. 000
NO. 44
GH=0. 775
FH=11. 350
18313
1250 3500 3500 1750 3500 3500 1313
50 1250250
1.135% rfjkﬁngi 2.000%
- | J|
NO. 17+15.976 Eo_%@ﬂi_394 NO. 18+1.703
FH=0.871 FH=1.219 FH= 1.088
16956 10790
(17000) 5669 (10750
3956 1500 1500 3250 3250 3000 50, 0 3261 1505, 1505 4017
(4000) 751, 3254 1664 (600 (3250) (1500) | (1500) (4000
1.466
RZCTS
2.0% = _ _.2.000% S
EL=0.186

DL=-5. 000

11599

156712

9053

£

T EE

NO. 44, NO. 45

I%4

BERRRR & -RE2M
(1) GEVLFERE)

R 6 {518
HEIE

BiRe%

BERRERRE

TE&ER

meEmRE2TEM (153D

HE4

HHR (Z04)

R

1:100 ‘E%n‘%‘ 8

EXE4

EEERNRLBHERES




R (FdD5)  s=1:100

NO. 47
GH= 0.926
FH=11.710
18250
1250 3500 ) 3500 1750 3500 ) 3500 1250
50 1250 25
R 2.000% JjEL 2.000% ﬂ
B LANP
NO. 20+16.229 NO.21+4.218 NO. 21+1.512
FH= 0.750 FH= 0. 825 L
17097 14647 —
(7137 (14630)
3959~ 1500, 1500 3250 ) 3250 ) 3137 501 750, 3250 380 3252 1501 __ 1501 4013
{50 (3250) (1500) | (1500) (4000)
{ 1.145 B
1 - —
11600 11981 ‘
8350
DL=-5.000
NO. 46
GH= 0. 950
FH=11.590
9125 9136
1250_, 3500 ) 3500 _ 1750 3500 ) 3500 1261
45‘0125025
’—\ 1.446% ﬁ_ 2.000% ﬂ
|
NO. 19+16. 221 ‘ BO.LZME_ZM NO. 20+1.501
FH= 0.790 FH= 0.914
16983 15511
(17000) (15498)
3983 1500 1500 _ 3250 ) 3250 ) 3000 50 750, 3250 1248 3255 _ 1502 __ 1502 _, 4005

(3250) (1500) | (1500) (4000)

1,252
B300-His5 B400-H524
1 | T R A —
— ¥ — EiEEt EmE NO. 46, NO. 47
— REMEE MBERERE @ RE2f
THEE \GTHE (1) EOFEER)
11500 - BRe% EEREEBRE
‘ 8348 | ITEEHM EEmRE2THM (FE153)
DL=-5.000 RiEm& HER (Z£05)
R o BEES 9
EEES EERRHE T BERES




1SUBAIE s=1:2

2EUBIAIE s=1:2

520
110, 300 110
M 3581=500
) BELEL
g
BREH (RC-30)
g:%r—x
g 04)
100 360 _l10g
560
10. 0ms4 Y
% i o) % By o 2
T v R FUEEE| 3FE-300A & 5.00
BRLR RC-30 t=100 m2 5.60
avyy—+rE | 318-B300-L500 #® 20.0
B8R
2! _q-
258 $=1:20
272
T3
g 8 BELEL
- BHLavyy—+
= 0282 18N/mm2
g ) (N essamw
470
10.0m24 Y
4 B # # B % B
#Havy Y- MEHE 6300 & 50
#HLavyy—r | o28218N/m2 m3 0.47
HLavER HLavsy—+ m2 2.00
BELZIL £=20mm m3 0.05
BEAR RC-40 t=150 m2 4.1

520
110,300 110
4R 3781=500
o BELZL
=
B R EHE (RC-30)
i
e
g 0] (
l0g 340 10
540
10.0m24 Y
& R % B % &
FU%v R MERE| 358-3008 i 5.00
[22=p-27 RC-30 t=100 m2 5.40
av4y—E | 3FE-B300-L500 #® 20.0
=B8R
2! _q-
458 $=1:20
514
S
s s o
b HELZL
o HLavyy—+t
= 0 28218N/mm2
S
8 m C@ BE L (RC-40)
850
10.0m% Y
& W £ # B % 2
#HIV 7 Y- MAHE| 6600 & 5.0
BLavyy—+ | o28218N/m2 m3 0.85
HLavER HLavyy—+ m2 2.00
BELZL t=20mm m3 0.10
BEAR RC-40 t=150 m2 8.5

SEURMAIFE s=1:20

BER (Z01)

BRAIEEKE s=1:20

EKEAT

B AR $3E K #g s=1:20

EKEAT

500 AUNE 125
600
150, 300 150 | BkA 7
C1-B300  |3070 17080) 6. 00%
avyy—+r ,Jr: //,_IZ
0 28=18N/mm2 | I— ® A Al
g 82 2 s00 B (1-267)
o B . 1000 " SEMRRTO Y | TUkwRRBBEKEN
2 Y HELSL 3 B BKA péco
+ 8 5 # I\ 5
2 me———. = A )
. : 3 ——
8 (0 & s BERE RC-40) o
i w
BERH RC-40) 600 — R
b 600 b / \
o
700 ‘T \ o
10.0n24 Y 0 ( g| ) C 2
& % BB |wf) BB BERE RC-A0) I .
@ _BEMSL _ BEKR R4
TLx v X MREIHAKE| 6400 5.0 50| o 1000 od | 5o
1.0m&7=Y BEAR RC-40 t=150 m2 6.0 1300 0, 500 1
& E] FEECEE S 600
avoy—+k | o28=18N/m2 m | 0.3H:0.076 EST)
E ] m2 4H+0.6 % b i B % 2
P RC-40 t=150 2 0.70 TUdr R BEHKE 6400 & 1.0
25— 2 | C1-B300 E3 2.0 BRELRE RC-40 t=150 n2 0.8
EpE T-258 # 1.0
BhAvA
. "W — —_ .
VU(®300) s=1:20 2 Y $=1:20
5 700
200 500
SEEHRIOvY B avsy—r
028=18N/mn2
=
g < 6.000%
o 4 8 g
g g 7 &l
B 5. 750
HELZIL 800
BERE (RC-30)
VU (6300) 020
10.0n4 Yy
& ® ® |24 % =2
SEEHRIA Y | BE HER & 16.5
— 1;&. Omit) BELAL t=10mm m3 0.02
P ] 5% & = avsy—t | o28zi8N/m2 n3 0.83
— b m3
TANE—# B 4.0 ™ MLavs—t m 210
® T8 2
Em2E ! 52 BELR RC-30 =100 m2 8.0 - "
5 VU$ 300 sl (g
BLE ¢ " 10.0 HEEEE k=3 m2 8.0 ;&ﬁﬁﬁl E‘I’E
R6EIR @ERRKKE £ -KE21h
THEE \GTHE (1) EOFEER)
BIREE EERRKR
ITEEHM mEEmRE2TEM (FE15E)
RiEm& BER (Z01)
R mr  |BE®E% 10
4 E EESRERMBELBHERHES>




1S#EM s=1:30

1000 700
15 700 15 50 400 15 SEYE “
_sL-guETE e
EEA KR AL FERE avyy—+ )
(0 28=18N/mm2) B &5 (RC-30)
T T =
=}
° °
S S 50
2 g o IR
i = ¥ 9 = £
2 2 3
2 [00) 8 ]
BE £ RC-40)
1000 700
1100 800
ISHEM
EE xwE | A
BEE | N0 1+10.647 0.749 | 1000
HEE NO. 10+1.218 1.101 1000
HEE | N0.13+13.187 | 1.161 | 1000
EAE NO. 1+6. 067 0. 567 650
EBE | N0 11+0. 641 0.772 | 1000
EE NO. 19+8. 877 0.753 1000
EST)
& £ # B % 2
avyy—+r | o28218N/m2 m3 T
BEER RC-40 =150 m2 0.9
SU—FouE | 1-25(700x400) i 1.0
sEEERIOy Y| BE HER n 10
PR RC-30 t=100 m2 0.2

BEX (Z02)

BAIBKE

SEEHR IO VI8

150

500
800

150

150,

250,

H+60

FL=F 5% (1-25)

avyy—t
0282 18N/mm2

BB EE (RC-30)
BREH (RC-40)

3SHENM

AR K H
EAE NO. 0+4. 961 0. 420 BiBEADY) 650
EfE NO.0+7. 040 0.468 750
=R NO.0+11. 156 0.519 800
EfE NO. 18+12. 836 0.785 650
A NO. 20+18. 259 0.693 650
EfE NO. 21+15. 302 0.695 650
ERE NO. 23+3. 427 0.707 650
HAE NO.18+11.833 0.996 950
HE NO. 19+9. 181 0.915 850
HE NO.21+14.790 0.769 650
HE NO. 23+2. 049 0.751 900
HAE NO.23+8.512 0.730 850

[E-+D)

L] b i B #H B
avyy—+ 0282 18N/mm2 m3 S
RERRE RC-40 t=150 m2 0.7
SuLu—Fu4E | T-25(500x400) >4 1.0
SEEHRI0y 4| BE MER m 0.8
BERR RC-30 t=100 m2 0.1

S1,82, SA% /K s=1:30
a
150 b 150
GL—F V5% T-250rT-2
8 N
a b
of = STHKB | 700 | 400
S28KBI | 800 | 500
2 SISKB | 1100 | 800
a
st
5 L 0_ b 150 FR xm | N
FL=F 2% T-20rT-2 % KR (E) | N0.27+0.002 0.700 | 550
(o282 18/m2) G 0E) | W0.36+1.79 | 1406 | 550
, K (B) | N0 36+6.292 7415 | 550
T = st FRE) | N0.44+0.370 T170 | 650
r -t R (E) | N0.36+8.438 0.831 | 650
g = AB(E) | N0.38+2.330 7212 | 900
= r - K5 (&) | N0.38+7.311 1213 | 850
g A (£) | NO.38+10.499 1.178 | 650
s (6. A& (&) |N0.40+15.244 | 1.287 | 650
BELR RC-40)
a
s4
a100 EF] =%E | N
A (G) | N0.27+10.168 | 1.086 | 1150
A (H) | N0.35+17.103 1.396 1150
A8 (F) | N0.39+9.484 1.456 1150
A& (H) | N0.44+0.071 1.466 1050
ey K (&) | N0.35+8.029 127 | 1000
% W ) i B % B A (£) | NO.37+5.824 1.764 | 1150
FR(E) | N0.45+12.679 | 1.172 | 1150
avyy—+ 028218N/mm2 m3 A&
BEER RC-40 t=150 m2 b
JU—Foy%E | 12012 8 1.0
o S S
EhERET XM
— R6EIR @ERRKKE £ -KE21h
WEIE (1) (FBVLFERKRER)
BREE EERERRR

meEmRE2TEM (153D

BER (£02)

1

EEERNRLBHERES




25%% A s=1:10

180

SEEFR IO v Y (BiE)

BEELEL 2
BEER 205 ‘50
(RC-30) i
255
10.0n% Y
2 # s ® B & 8
SEEHRTOVY B HER B | 16.5
HELEZNL t=20mm m3 0.04
HRER RC-30 t=100mm m2 2.6
+1 +H- 7 \
WBHHEIO YD s=1:10
180
SEEER IOy B
2 8
MEELSL g} (X -
REAR
(RC-30) 255
10.0m& Y
% ® £ # B % 2
SEEFRIOVY BiE KR & 16.5
HELEL £=20mm n3 0.04
BELR RC-30 t=100m | m2 | 2.6

(200x200x450)

200

450

10

ERERR
RC-30

EEEE  s=1:10
(E& & FElbm4m)

RETR: HihE

100 / B&#@Ee)

=
AS%A  s=1:10
200
SEEHR IO v Y B
ERi;]
BELZIL
HLavsy—p %/‘ 8
0 28=18N/mm2 =
205 ‘50
255
10.0m% Y
& R EE ]
SEEHERITOv Y | B YTA @ 16.5
BLavsy—+ | o28218N/m2 3 0.26
B #BLavsy—t m2 2.00
BELAIL t=10mm m3 0.02
gJ0vY
EMIJOYY s=1:2

EiEx (Z03)

= = =
65#H%A  s=1:10 15%A s=1:10 8E B A s=1:10
25
SEEER IO Y B
200
¥ SEEBRIT0 Y B
200 TR
sl 8 MEELSL MEELSIL
STEERTD ) ) Y ;(r
oA = p
_HELSL é(/ 2 2
'\.IN 7] dsLavsy—+r 7] diavsy—+r
s 028 18N/m2 028 18N/m2
- 205~255 255
BRAERE 200 ‘50
(RG-30) ‘
250
10,0024 Y 10.0n24 b 1000y
& B (B ¥ 2 2 # #OOK (B # B 2 B O% (B & &
SEEHRTOvY BiE YIFA B | 165 SEEBRTOvY BE HER & 16.5 SEEHR IOy Y | B TR [ 16.5
BELZIL t=20mm m3 0.04 ByLavysy—+ 0 28=18N/mm2 m3 0.35 HyLavyy—+ 0 28=18N/mm2 m3 0.35
BRAR RC-30 t=100mm m2 2.5 B HLavyy—+r m2 2.75 B HLavsy—k m2 2.75
BELAL =10mm m3 0.02 HELAL =10mm m3 0.02
PCHiffiZfE H1800XW6000 $=1:30
B k .
W6000 i - R ERERER Fq E g Eﬂ"_' $=1:20
6mA (700x700x900)
L3
_ 0700x 700
s
¢13 TL—R X
GIFERH) - - g
8
= 3 avyy—+
Shuy—
$38.1x2.3 BE S T ock=18N/mm2
[EESAG) 46 49
N z22zw2e /| 1 Il I I il
: > g g EBRE
s RC-30
$50.8x1.6 $50.8%1.6 $50.8x1.6 $38.1x2.3
b | | \W/ | | 1
6L+0n - el L % L ‘
$38.1x2.3 E, °
.
$139.8x3.5 #OMQO $139.8x3.5 s @
> == =JL = v
= ELI6 = L EEEEFTEE
AR LR RE6EE WEEBRBRER € -KE2ft
” THB |mgTH (1) (BUOFREER)
a
BIREE EERRKR
ITEEHM mEEmRE2TEM (FE15E)
XMERIFAIETSE .
RiEm& BER (Z203)
R BT mass| 12
4 E EESRERMBELBHERHES>




BER (£ 0n4)

M Qﬁ A = E‘ 4 At = h by N
HE&HE $=1:20 25 BHIESHE s=1:20 SEEHERE s=1:20 FA—N— LA s-1:20
o= ) = sz
N5 EXETCBR2LLT H#ZETA=34 N5 E%EHCBR2LLT H#ZETA=34
Il’r °
= 3 (&R
FE(K—3 ZAs) t=5em ? —eo
2 o
[, S 2 HME (BAMMEAs  t=5om) MM (HAMMEAs  tom)
&5 2B "
o
o
[=>]
4%
o RS I
S g% | ‘ SSSN
o 0 < & ° -
222 222 Aoz T s | |
| LRyvy | FAbR: ] | RE]]
BEBHEA t<Tcm
€3] __ % BEEERE t>Ten
F54La—b 1.2L/mRRE| | EfE (BAEMEMEAs) t=5cm HE (FEMAEAs) t=5cm
TR (BAEMARE) t=40cm +TERE (BEEHFRELE) t=15cm Byha—k 0 A/mEEE
TS (EES S5y v—5>) t=4lcn Bypa—t 0.4/mik | '
T4 L=k 1LA/mBEE
S Ay = S gy
iﬁ 4. P = S oty
XEWE s=1:2 155 B s=1:20 2B SEEHE s=1:20
HEEY AN
|
s [oa) 3 oo =
&5 gl g = 2
=
8
#8 (BHEA) t=don %8 (EHEAS) t=5on
TRES(FLEY5 vy r—52) t=10n TREBSEEEI Ty v—52) t=l5n
I 4 LA —R ) t=10cn JALE—R®) t=15m
RE (BEFHEAs) t=5cm
A3k LUMEE || gy @es 5y e—5) tiom

B e

RGEE EBRERS @ -RE21t
THA |gETE (1) (GELERER)

BRES BB RERE
THEEF =~ ERHRE2 TEM (158
BE4 HEE (Z04)

R BT mEss 13

EXE4 RERRBELEERES




Gil
2

% 5 5

45 ENZFH

07

J-6-2%F3E (1170x1560)

970

EXN
$=1:50 s =% omrg ¥ umrs
., ZESHFEAR RER {4 & B SR
5760 90 $=1:25 §=1:25
400 5360 Top PL-3.2 20
. 380 Y
Rib PL-12
350 3075 1935 300
1215 930 930 955 780 20| PL-3.2 . e »
[ ] S Z B! 3|
A R ¢ <
ST HEY & B I e
- R - ~ N 52 Q
114. 3¢ x4. 5t © B
S @XE O <
B 180 P2 =
2 —T =] p— 8-269 ¥R
% ‘ ‘ ! I / ‘ ;F% ‘ 400 8-M24xT108T
=3 | | | ol g ol 7=
g — T =k | LD
‘ Y ‘ 2-15 235*5 159
JE—N— —] \H: == —1ox. AN
| == I | - (2-M12x55, 2N, 2PW)
216.3x5. 8t R—ZTL— MR 7o h—HR)L FEEHER
$=1:25 $=1:25
1500 2790 190 1560 750 600
75_300 __ 300 74 300 300
o \ \ | \
) w | , |
SN\ ¢/ ¢+ Rl —
8 8 | 8
> 4 o o “l g
g B % + 3 H— + —r—+ g
g L | @
] 318.5¢x10.3t |+ / + \ + e —
| 350 \ FB75x9
$5-400
‘ 8-M30 (3N, PW)
| aryy—=~
(o 28=24N/mm)
‘ o /m PL-12
o 6L / g — B P
< >
E [y ] g | =
o S
HlLavsy—+t S
(0 28=18N/mm) - RB-28 ¢ 2
$5-400 8
s | l
r—ag 3= |
o
_REER (BERBEOMUT)
100 1300x4200 100

B e

REMEIR HEREKKR - KE21t

TEL guT®: (1) BOFEED)
Bma% EEREBRE
THER memRE2 TEM (F158)
HE4 TS

"R =R ‘EE%%‘ 14

EXE4

EEERNRLBHERES




1-1

1300

4200
1675 850 1675
00 6x250=1500 1000 6x250=1500
S
o =
3 @ As ) D13 — +—¢ As ) D13
E — % _
g
(g;:) D13 A2 ) D13 A2 ) D13 Ai ) D13 (g;:) D13
4200
1675 850 1675
1350 5x300=1500 1350
3
S =
& I I
o b Fo— o o {
g ]
o %
g g () [ T T 1| (A )13
>
2 . [ 1111 .
o) N I |
o
Q8 —— v
QI.PDIS
4200
0 16x250=4000
S
S " T As ) 013
of T
g i DI
S
S
3
S

DI E R 5 X

5=1:30

1300

415* 71N A
4200
1675 850 1675
0 16x250=4000 0
= I r | @m
| | [ | M LT | | [ | I I
S
ol = (5;?) D13
gz
el Cl [
S
S
© QIIFDIS
g
i
!013 @ms @ms
4200
1675 850 1675
00 6x250=1500 1000 6x250=1500 0
b
8
ol = As ) D13 b1 (As) D13
g Z
2 g [
S
P
b
s —— — B
!
QI!!D13
0 16x250=4000 0
4200
1300
1300 225 850 225
00 4x275=1100 10! 0 3x230=690 0
205 205
!l!l! D13 (2§;:> D13
S I S ]
s I ] s L
= (5;) D13 ol =
T (I
S 3 3
S S
S S
& &
S S
]
|
D13
As ) D13 Ar ) D13 A!III!AAA,

0f 4x275=1100 0f

1300

4000

1500

15-D13 X 4000

1126

1126
1126
1126

1126

14-D13 X 3770

1126

3-D13 X 3380

6-D13 X 1500

1126

14-D13 X 1520

1100

8-D13 X 1490

1126
1500
2 E
4-D13 X 1500 6-D13 X 1520
BHmEE R (SD34D)
iE 3 # ® & B BUEE | —FXLYHEE " & B
A D13 4000 15| 0.995 3.98 60 |[——
A2 D13 1500 6| 0.995 1.49 9 |——
As D13 3770 14 0.995 3.75 53 | [
A D13 3380 3 0.995 3.36 10| LI
As D13 1520 14 0.995 1.51 21 [
As D13 1490 6| 0.995 1.48 9 [
A D13 1490 8| 0.995 1.48 12 |1
A s D13 1500 4 0.995 1.49 6 | ——
Ao D13 1520 6| 0.995 1.51 9 |
189
& # D13 189 kg
BHE 189 kg

1100

i
6-D13 X 1490

B e

3 m

i

R6M@EE BBREKR B RT2f
TEL guT®: (1) BOFEED)

m 3] BREE B RERR
THER =~ ABTRT2TEM (E15E)
HE% EEREGE
"R =7 ‘EE%%‘ 5
BEES R R EAR T B B




UVRRIERER 5

URAIE (REREAD

S18Eokit S1HEkbE 3%“@1&] ;% S=1:20

NEY S H=900 H=850 25 URIEIE 1SUEE NEY S

H=1150 H=1150
=B ‘ SURIEIE L= SEE L= [ ) .
6BUBAIE SEURMIE L515.6In  ZEER L4300 o imipy SSUBEH L=32. 47n SSUBEH L=26.28n
13620 1990 14140 18330 6780 19500 o
< =i S — g | o) 150, 300 150
< R < = o o =
5 v o164 g 3 3 ke o 4 3 3 C1-8300_ [8070 1089
S Y A A0 P I L S R o =] < <] < < S avou—+
= = "F H v 1.213 2| o ol S S| S| ST
Vi 164 v 202 V1202 | = = Vv1.299 = v1.283 = vi712 = vio1s8 IR 5 0 28=18N/mm
=t (= ot p=
[ i
=S- ————— P T —— e — —— — = == S 8
= Il 3 0.265% 2 0. 2654 S Sh S ﬁ% =Y
0. 100% ‘ ) — T z
— v 0.513 v0.797 v0.834 v0.883 .
| — - V0. 695 v0.702 v0.721 3
f?l I~
V0. 265 v 0.504 v 0.504 8 ) (
V0.164 vV 0.488
b=-t00 DL=-1.000 _ _ _ _ . DL=-1.000 B 47 - - - BB (RO-40)
600 b
700

B e

RGEE EBRERS @ -RE21t
THA |gETE (1) (GELERER)

BRES BB RERE
THEEF =~ ERHRE2 TEM (158
BE4 VR R
R B%  REES 16

EXE4 RERRBELEERES




EETHFME (ZD1) s=1:100

No.35+7. 6~No. 37+6. 448 KIREM

EL=0.772 G
EEH-0.033

N

\_kEE$0.669 —— - — —

ASVT
NO. 18+4. 650 i NO. 11+0. 641 i
S1%sKkHE He650 FH=0. 879 Saskipt H=1000 i 1000 FH=0. 824 SasEskpt H=1150
EL=0. 831 ‘ £L=0.772 ‘
SN PR T ) 1 — g
g i "4?"—"1" I E §E ‘ 1.861% |
\_EL=0. 362 | EL=0.345 /i N EL:70_033‘ EL=0.164 /| N e
| osER 15 ‘ | smwm =103 R a At I
R6ER EEREBRRE - -RE2/
DL=-3. 000 DL=-3. 000 THA geTE (1) EOFERER)
BB E EERIRKER
TIHE&ERT FEEMRE2TEM (F152)
REA FERETFHME (ZD1)
"R 1:100 ‘@ﬁ&% 17
BEEL EEERMETBHERES>




EETHME (ZMD2) s=1:100

No.45+12~No. 47+9. 5Fif ABREA

S S ) S S S S o s [

E

e
] S A |

EL=0. 753 TK
BEEH-0. 051

\\\\\“‘Fj:%LJ;_L\\\\\\DF\\\

N

%

Nyl

—
—
[ —
- ———
] .t
R e | L | —
—— ) ) | T —
| — — = 1 : I
— 77:7:77:1:j777— — W o~ -
— e |
) e |
-] N ® ‘
N ‘ .
[ ) N [ | ¢
N }
N
ND NO. 46
O 1O O N
S — ——}Jfﬂ—gf—ff - TEEEe 18— — - ]
) ‘N Y ()
NO. 19+8. 851 SasEskp H=1150
1E#EH  H=1000 FH=0. 805
‘ EL=1.172
EL=0.753 |
VAR S——— g
§E | 2.000% I =
X el 051 | _EL=0.181 /] T
‘ | 4mEE -1 E e ETKmE
R6ER RERRRKR f-TE2
DL=-3. 000 THEE meTs (1) (EUVERER)
BB E EERIRKER
IHE&ERT mEmEE2THM (F15E)
REA EEIHER(Z0D2)
mR 1:100 HEES 18
EEEL EERREIME T BHE/EERD




500. 000

R:

1S5 EEHE s=1:2

E2s

100100

RE (BIHLEAs) t=dom
TREBEBEIFvIry—72) t=10cn
TANE—E#) t=10cm

d—iN— LA s=1:20

REI (K—3F RAs) [TOP13] t=5cm

£ET (FEEHEA) [T0P13] t=ben & I§;$ﬂ5ﬁ%f\s [TOP13]
1 t=dom
BEBERENE t=

\

1B HEEEE s-1:20

N5 E%EtCBR3 (1S #51490%)

_N5 SRECBR3 (SR 1E90%)

1-2BEHEEHE s=1:2

SHEX S s=1:500

TEFEEE s-1:20

liog |

| %R @emng thn

TRBEBEIS v r—FY) t=10cm

75
)

SEEHBESHE s-1:2

N5 E%5tCBR2LLT H#ETA=34

e e

50

150

53081k

iR R

&

HE (BEMHKEAs) t=5cm

U3vvv—3v)

LR (BEEEREME) t=15cm

TEBEBEI5vr—F ) t=13-83cm

BRERS B t=300m (+2 4 > hFME27. 86ke/m)

Hi#RT1A=26 EETA=26
=
£ —oto
= | & =
S i
g 7 g
- g 7
2 3
d gl 8
i isied
S
g =3
3
&E(K—F RAs) t=bem &IE (K—3 RAs) t=bom
£ (BEBHEA) t=5on HE (BEHENEA) t=5cm
LERE BEEEREMLE) t=10-19. 5cn LEBRE (BERRARE) t=10cm

TREBEBEITvIr—F5 ) t=15-%4cn

25 E S s=1:20

HEEY AN

G

150 150

RIE (BIHIEAS) t=5cm
TRBHEBEITvYr—F ) t=15m

T4 W5 —E ) t=15cm

TV THE s=1:2
E%51CBR12 (S #E1H90%)

BiETA=17

%*

i
i

Wy 2

350

RE(K—5 RAs) t=5cm
LB (FEMAAEAS) t=5cm

LR (BENARE) t=10cm

_ TRE®@EE559 v—5>) t=15n

BRBRB B t=30cm (12 * & M E2]. 86ke/m)

BEHEE s-1:2

fog |

R (BEFHEA) t=dom

TRBEBEISvIr—7) t=10cn

2EEHBEEHE 5120

N5 EXEtCBR2LLT H#RTA=34

400

900

400

£E (K—35 RAs) t=5cm
HE (BEMHEAs) t=5cm
- R AR (BARMPARE) t=40cm

TREBE@EEISvvy—5 ) t=40cn

NO. 46+8. 593

EHERETRE

RGMEE BBRERE @ -RE21
THEA T (1) GEOFRER)
KL% EEEIBRE
TEEHR mETRE2 TEM (F153)
HE4 HEXHE
R 1:500 ‘@Eﬁ%‘ 19
EgEg EBERME L RERDGES

¢-ON




